745" MAX. O.A FRAME WIDTH —— 70.25" MAX. 0.A. FRAME WIDTH —
» ” 75" .75” MULL. 15.5" MAX. O.A.
875" TYP. ——{|— —= .125 —— —
JELD'WEN@ S teel 36.675" WX, OA TvP. BAR TYP. SIDELITE FRAME WIDTH
CONTOURS STEEL DOOR, WOOD EDGE —|  PANEL WTH |- 95 MAX OA-_ 8757 . 36" MAX OA. __ 147 MAX. OA
66" OPAQUE OUTSWING IMPACT DOOR UNITS W/ASTRAGAL PANEL JIDTH TYP. PANEL WIDTH 5 || PANEL WDTH =
WITH & WITHOUT NON-IMPACT SIDELITES g §
- -
.M
a GENERAL NOTES A\ | = = = = SS9
INACTIVE ACTIVE 6” MAX. =Sxas
1. THIS PRODUCT IS DESIGNED TO COMPLY WITH THE CURRENT FLORIDA BUILDING 80" M1 1 M K 80" 7 M 1 £ 0A D.LO. =0 :( %
CODE AND HAS BEEN TESTED IN ACCORDANCE WITH HIGH VELOCITY HURRICANE MAX MAX WIDTH w L¥u L o
ZONE "HVHZ" REQUIREMENTS. o0 o0 SExg
2. WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO TRANSFER PANI::L PAi\II:._L 63.125" Q- § ©
LOADS TO THE STRUCTURE. HEGHT HECHT VA R
3. PRODUCT ANCHORS SHALL BE AS LISTED AND SPACED PER ANCHOR LOCATION o @ <o o @ OA Sosa
DRAWINGS. ANCHOR EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL 81.95" =y Ly 1y 81.95" & /|y /| D.LO.
DRESSING OR STUCCO. VA, P _@ /DN VA, BN e HEIGHT
4. SEE TABLE 1 ON THIS SHEET FOR DESIGN PRESSURE RATINGS. 0A. 3/ v Vo e M 3/ 0A. V1lle\&/ NEA NI
5. THIS PRODUCT MEETS THE WATER REQUIREMENTS FOR "HVHZ” ZONES. SEE FRAME 1 1 1 1 FRAME — —
THE DESIGN PRESSURE CHART BELOW. HEIGHT HEIGHT 7 7
6. DOORS ARE IMPACT RATED AND DO NOT REQUIRE MIAMI-DADE
APPROVED IMPACT RESISTANT SHUTTERS. 2
7. MIAMI-DADE APPROVED IMPACT RESISTANT SHUTTERS ARE REQUIRED || | ] || | ] || || W %Q
FOR SIDELITES —= = — == = = Ses
a
i. (S;‘I([)JAE#;EEJ%A?'T(?NAN OPTION AND CAN BE USED IN A SINGLE OR DOUBLE ) ‘ SINGLE OUTSWING IMPACT S L3 <Z(%
- : i 075" | 0.625" | 7 B\ UNT (0X0) W/ NON—IMPACT S5hl wE
p N 0.625" — : : SIDELITES VIEWED FROM_EXTERIOR &g &S
COMPONENT CONSTRUCTIONS: 3775” MAX. O.A. W 875" 107 MAX" 0.A. FRAME72/LDLI'LI}LL 5 5” VAX. OA i § % 5 gé
Face sheets: 24 ga. (0.020") minimum thickness, Galvanized Steel A-525 FRAME WIDTH e | 1257 == - ' PAVE 2D §§
- . ; o . » BAR TYP. SIDELITE FRAME WIDTH = S| =
commercial quality — AKDQ per ASTM 620 with average minimum yield » 36.625"° MAX. O.A. ” ” » ol %E
! " 36~ MAX. O.A. 36~ MAX. O.A. 14" MAX. O.A. n W=D
strength Fy(ave.)=24,600 psi. 875" TYP. —{|— - — PANEL WIDTH -— - LuwE|lD
th ' PANEL WIDTH W/ASTRAGAL PANEL_WIDTH PANEL WIDTH 535|<
Core design: Door core by JELD—WEN. > /. > > El X%l
S| 2S|o
2
Door Panel Construction: The active and inactive panels are constructed from S 8%% >
24GA. (0.020” min.) galvanized steel. The face sheet tops and bottoms are @ @ I @ @ @ @ - iz LS
bent 90" over the top and bottom rails. The top LVL rail measures 1.67" INACTIVE ACTIVE 6" MAX RS e~
wide x 1.042" high. The steel bottom rail is roll formed 0.021" galvanized ) — — ) P — —r = = [ o.;‘\ﬁ.m%.o. ol o) R P I S e R e
steel measuring 1.67° wide x 1.21° high. The sides of the face sheet are 80 80 7z 7z )
roll formed onto the LVL latch stile and Ponderosa Pine hinge stile which MAX. MAX. = QL
measure 1.67” x 1.0". The interior cavity is filled with polystyrene. The 0.A 0.A. | ) ||~
face sheets are glued to the door core. PANEL PANEL 63.125 =2l
Fixed Lite Const.: The sash is constructed from 24GA. (0.020” min.) galvanized HEIGHT HEIGHT e MAX. ol |1BI5IRIK|E
steel. The edges of the face sheet are bent 90" over the polystyrene core e A1 ) < o 0.A. SlalE wiwlwlE (2
and glued to it. The sidelite panels are routed to receive the ODL Lip Lite 81.25" — =l 81.25" — = =l = D.L.O. 2 S HEEE t: =
Frames or the optional Trinity Light Frames. (See sheet 7 for glazing MAX. @ o o /’? MAX. o v__@ @ HEIGHT 4| & L.I'Tj E L.I'Tj SHE
details.) The lite frames are sealed w/ QSD glazing compound on the 0.A \3/ e 3/ 0.A © ¥ % == 2 &=
exterior. FRAME ] ] FRAME ] ] ] ] NEIEEEEE Qﬁ:
Frame Construction: The frames are constructed from Ponderosa Pine jambs HEIGHT HEIGHT A 7 T o lalalalEl
measuring 1.25" wide x 4.5625” deep. The door and sidelite head jambs i = L%" E E E a §'::_I
are mortised and butt joined to the side jambs and attached with (3) 16GA. CISIEISISISI]F
” ” . . SI==
2" x 7/16 crown wire staples. The units use a standard bump face Pemko || || | L= || || || B <@
threshold measuring 4.041” deep x 1.0" high. The threshold is attached to QRIS
\\_the frome with (3) 166A. 2" x 7/16" crown wire staples. ) | RO\ NAALLINY . DOUBLE_QUTSWING IMPACT §§§§§§§§E
J A . | J o™ . p UNIT_(0XX0) W/ NON=IMPACT  [SISRINSINSISIS
a TABLE OF CONTENTS N\ 06257 2/ 0.75 0.625” S @,’ SIDELITES VIEWED FROM EXTERIOR — [SISISISISISI={S|
e .. - P
SHT 7 DESCRIPTION SINGLE QUTSWING [MPACT UNIT (X) By R e S P s
1| GENERAL NOTES AND TYPICAL ELEVATIONS TABLE 1 VIEWED_FROM_EXTERIOR = 770 k"- = ONTE: _05/29/2022
. e -
: - B - P d By: SCALE: N.T.S.
é Z%TJ;IZCCI)%TACLR%??SOSSSE%I—IQ%{;{E)QSN D BILL OF MATERIALS DESIGN PRESSURE RATING—WHERE WATER E : : * s repared B DWG. BY: WJ
4 | HORIZONTAL CROSS SECTIONS AND NOTES INFILTRATION REQUIREENT 1S NEEDED e FES S AL
5 | ANCHORING LOCATIONS AND DETAILS SINGLE DOOR UNIT (X OX, X0, 0X0) | g5 nor _70 psf 2 % S o BY .
6 ANCHORING LOCATIONS AND DETAILS W/WO NON-IMPACT SIDELITES 2, & @\%\e DRAWING NO.:
=T GLAZING DETALLS DOUBLE DOOR UNTT (XK, OXX, XXG, OXX0) Digitally signed by Hermes F Norero AR AL BUILDING DROPS, INC. D015000 (S-2104)
K 3 UNIT_COMPONENTS // W/HO NON—IMPA(’,‘T SIéELITEé +57 psf —57 psf Reason: | am approving this document 398 ’[f NF LYD SR 358 Phone: 954-399-8478
Date: 2022.04.08 12:40:29 -04'00’ FBPE CERT. OF ADMIORIZATON No. 29578 Fax: 954—744—4738 SHEET _] oF _8




0.75" MIN. _
EDGE DIST.

CONCRETE/

! MASONRY ) CONCRETE/
1.50 075" MIN. _ MASONRY
MN. L L 1.50"  EDGE DIST. N — e BY OTHERS
0250”‘7 EMB. F RO R MIN. [} Y RSN
MAX. e R T EMB. S P
( SHIM — 20
f ! %% H ) % YA
I, 0.250 9, a7 W
SEE DETAIL 7 — @ MAX.
‘ /@ g1 5 ON SHEET 5
() MAX. SEE NOTE 6 ON /o
: 0.A. SHT. 4
10 FRAME
1.750” MIN HEIGHT 1.750” MIN.
PANEL THK PANEL THK.
SEE NOTE 2 ON
SHT. 4 A
0.125” MIN. PANEL
GLASS THK. HEIGHT
INTERIOR —~ EXTERIOR
SEE GLAZING
DETAILS, SHEET 7\\@
INTERIOR EXTERIOR i IR
B == 800 \
81.25" .
MAX. SEE NOTE 2
MAX. A 0.A.
FRAME HEIGHT
HEIGHT SEE NOTE 6 ON /53
SHT. 4
SEE NOTE 8 ON
SHT. 4
SEE
SEE DETAIL 7 NOTE 3
ON SHEET 5 ON SHT. 4
1.25”
MIN.
EMB. CONCRETE/
TUMIN. T EDGE DIST, gésgg_’ngS
/B\ VERTICAL CROSS SECTION
2/ AT SIDELITE SASH

EDGE DIST.

(AN VERTICAL CROSS SECTION

\Z/ WITH HIGH DAM THRESHOLD

CONCRETE/
MASONRY
BY OTHERS

1.25"
MIN.
EMB.

MIN.

‘e

2.5" MIN.
EDGE DIST™

(AN VERTICAL CROSS SECTION

\2/ WITH ADA THRESHOLD

[TEM DESCRIPTION MATERIAL
1| DOOR STEEL FACE SHEET 24GA. (0.020"MIN.) STEEL
2 | FRAME HEAD (FINGER JOINTED PONDEROSA PINE) WOooD
3 | FRAME HINGE JAMB (FINGER JOINTED PONDEROSA PINE) WOooD
4| FRAME LATCH JAMB (FINGER JOINTED PONDEROSA PINE) WOooD
5 |4” x 4” BUTT HINGE 12qa. (BY HAGER) STEEL .2
6 | #9 X 1” PFH WOOD SCREW (HINGE TO DOOR) STEEL Q5
7 | DOOR LATCH STILE LVL 2o
8 | OUTSWING THRESHOLD ALUMINUM O oh
9 | BRAD TRIM NAIL 16GA. X 1" (FOR MULLION CAP) STEEL = x v
10| COMPRESSION WEATHERSTRIP FOAM > 5 5:' N
11_|DOOR TOP RAIL LVL oW
12| DOOR BOTTOM RAIL STEEL =SS E-
13| DOOR HINGE STILE (FINGER JOINTED PONDEROSA PINE) WooD Qs o
14_|#10 x 1 3/4" PFH WOOD SCREW STEEL oo =T
15 |LOCK BLOCK (FINGER JOINTED PONDEROSA PINE) WOooD Ses=Q
16 _|3/16" ITW TAPCON ANCHOR W/ 1 1/4” MIN. EMBED. STEEL
17 | DOOR _CORE BY JELD—WEN FOAM
18| OUTSWING SILL AFCO_H—497 ALUMINUM
19| 2x WOOD SUB BUCK WOooD
20 | SHIM (0.25" MAX. THK. HIGH DENSITY PLASTIC OR GREATER) -
21 | 400 SERIES KNOB STEEL
22 |TITAN 700 SERIES DEADBOLT (NOT SHOWN) STEEL "
23 | #8 x 1 1/2” PLASCREW (ODL LITE FRAME) STEEL S, o
24 | #8 x 2” PFH WOOD SCREW STEEL 8o EQ
25 | #8 x 2 1/2° PFH WOOD SCREW STEEL 48y bBa
26 | #10 x 1" PFH WOOD SCREW (IMPERIAL ASTRAGAL TO DOOR) STEEL S-P =
27 |#10 x 2" PFH WOOD SCREW STEEL =22 4=
28 | MULLION CAP WOooD £33 o8
29 | SILICONE CAULK (CR LAWRENCE 33 C) SILICONE SLx=ls Co
30 | GLAZING COMPOUND (QSD BY ODL) SILICONE =S| 3 25
31 | BRAD TRIM NAIL 16GA. x 3/4” (FOR 3/8" QUARTER. ROUND.) STEEL B 35l3 R
32 | 3/8” QUARTER ROUND SIDELITE STOP WOoD Qw3 RS
33 | CORNER BLOCKS FOR STEEL DOOR BOTTOM RAIL MDF 3 g: -
34 | SCHLAGE KNOB SET #F51 STEEL S| £&3|o
35 | SCHLAGE DEADBOLT #B360 (NOT SHOWN) STEEL 3| °w%§lk
36 | SIDELITE STEEL FACE SHEET 24GA. (0.020° MIN. STEEL) STEEL @ | Z
37 |1/8” TEMPERED GLASS (BY PPG) GLASS PR
38 |ODL LITE FRAME SG (SPARTECH POLYCOM PP5530 C13) POLYPROP. SN EENEERE
39 |PRESSURE TREATED MULLION BAR (3/4” x 4 9/16 x 81 1/47) P.T. WOOD Q
40 | ALUMINUM EXTRUDED ASTRAGAL (BY IMPERIAL) ALUMINUM “2lg
41 | ASTRAGAL STRIKE PLATE (BY IMPERIAL) STEEL o
42 | YALE KNOB_HERITAGE SERIES STEEL ESW
43 | YALE DEADBOLT HERITAGE SERIES (NOT SHOWN) STEEL o = e N A
44 | SIDELITE FRAME HEAD, SILL AND JAMBS (FINGER JOINTED PONDEROSA PINE) WOooD SEEEEEE
45 | LITE FRAME BY TRINITY FOR 1/2” 1.G.U. POLYPROP. Y [ o o Y P
46 |1/2” INSULATED TEMPERED GLASS (BY TRINITY/AMPAC) GLASS 5|olululE|g| D3
47 | LITE FRAME BY TRINITY FOR 1” GLASS POLYPROP. 5128 elelo S
48 |1 INSULATED TEMPERED GLASS (BY TRINITY/AMPAC) GLASS SEIelSlal=lElS
49 | LITE FRAME SCREW #6 x 1 1/2” LONG PANHEAD (BY TRINITY) STEEL e e e
50 | GLAZING COMPOUND DOW 1199 SILICONE S|=|5|5I5l5|2
51 | #10 WOOD INSTALLATION SCREW W/ 1.50” MIN. EMBEDMENT STEEL i ] B I
52 | DOOR LATCH STRIKE PLATE STEEL QRSB RISISIE
53 | DOOR LATCH DEAD BOLT STRIKE PLATE RO STEEL RREEREREE
54 | FLAT LITE KIT N AeAT AL Y, ALUMINUM NERNSNERE
55_] ADA THRESHOLD S B ALUMINUM P N R P PR
S e
I~ R
=% '5 +* = Prepared By: SCALE: N.T.S.
E 0 o s DWG. BY: JwJ
=% TS . S. SAFFELL
~ O, &G S CHK. BY: .
RN SIS DRAWING NO.:
oo b RO BUILDING DROPS, INC. D015000 (S-2104)
308 €/ppln BEAER s Vo, s 338 Phone: 954-399—8478
FBRE CERT. OF AUMIRIZATION No. 20578 Fax: 954—744—4738 SHEET _2 OF _8




SEE NOTE 4
ON SHT. 4

| AR

CONCRETE/
MASONRY
BY OTHERS

| 0.250" MAX.

INACTIVE

EE DETAIL 5
ON SHEET 5

O\ HORIZONTAL CROSS SECTION

\3/ LATCH JAMB TO BUCK

SEE NOTE 1

2042139

@ o

~1.750" MIN.
PANEL THK.

SEE DETAIL 5
ON SHEET 5

/D HORIZONTAL CROSS SECTION

/

X -

1.750" MIN _|
PANEL THK

SEE NOTE 4

(E HORIZONTAL CROSS SECTION

\3/ AT IMPERIAL ASTRAGAL

\S/ HINGE JAMB TO BUCK

EXTERIOR

/

1 =
BE N0
SEE NOTE./F L
1 SHT. 4 L

\

INTERIOR

ASTRAGAL TO STILE ATTACHMENT

SEE NOTE 7
ON SHT. 4

CONCRETE/
MASONRY
BY OTHERS

AVLLLL LI LAYV ANN VNN NS

/_. \‘v .
1onyf

N

0.250" MAX. __|

ASTRAGAL THROW BOLTS (2) TOTAL; (1 EACH)
0.31" DIA x 9.0” LG. AT TOP & BOTTOM

.2
Q5
- -
. 0C v

S-S h
Zmu)m
ER
oW g
SSEg
32},3“’.
W T
S5 2Q

HORIZONTAL CROSS
SECTIONS

CONTOURS STEEL DOOR, WOOD EDGE
6'-8" OPAQUE OUTSWING IMPACT DOOR UNITS

WITH & WITHOUT NON-IMPACT SIDELITES

MSH PRODUCT:

TSB
PH

JLA| PART OR ASSEMBLY:

JWJ

ZRK|
TJH
BY

REVISIONS

| |03/29/22] AFCO H-497 SILL ADDED
H|01/22/20| ADA THRESHOLD ADDED

Fl07/11/07| MODIFIED TO MEET THE 5TH ED. FBC| SIM
DATE

E [05/01/12] MODIFIED TO MEET THE 2010 FBC
D|07/11/07| MODIFIED TO MEET THE 2004 FBC
¢110/22/02] ADDED TRINITY LITE FRAME

G l08/18/17| CHANGED CORE DEFINITION.
B|06,/06/02] GENERAL REVISION

#

FBPE CERT. OF Al

Prepared By:

BUILDING DROPS, INC.
Phone: 954-399-8478
Fax: 954-744-4738

DATE:  03/29/2022

SCALE: N.T.S.
DWG. BY: JWJ
CHK. BY:  S. SAFFELL
DRAWING NO.:

D015000 (S—2104)

SHEET 3 oF 8




SEE NOTE 4
@ s @D @) (29 4) (62 (7 ?
2 A
2 S . .

@ T
@)
f 1
AN

_1.750" MIN.
EXTERIOR PANEL THK.
]
NWH 7277272 SRR A A
\\\ : INTERIOR _ \\\ \
o - R AT
' OON 10 SEE NOTE 5 <0 NN '
SHEET 7 ‘ \\ ON SHT. 4 / \\ ‘
R NS O s/ I @S
| gﬁEsZ?gL; ON' SHEET 5 ‘/V . 0.750" SEE GLAZING _|
59 39

(F\ HORIZONTAL CROSS SECTION
\4/ AT SIDELITE TO LATCH JAMB

CONCRETE/
MASONRY
BY OTHERS

NOTES (HEXAGONS):

1. SPACING FOR ITEM #26 THE #10 x 17 PFH SCREWS ATTACHING THE IMPERIAL ASTRAGAL TO THE INACTIVE DOOR IS
AS FOLLOWS: FROM THE TOP DOWN & THE BOTIOM UP:; 1.0” 2.5” 4.0” 5.5” 13.0", 18.0" & 26.0".

2. SPACING FOR ITEM #23 THE #8 x 1 1/2” PLASCREW IS AS FOLLOWS:

TOP & BOTTOM, HORIZONTALLY, SIDELITE PANEL: 3.0 IN FROM EACH CORNER.
ON THE SIDES, VERTICALLY, FOR THE SIDELITE PANELS: 3.0”, 13.0” 26.0", 39.0", 52.0” & 63.0”.

3. SPACING FOR ITEM #31 THE 16GA x 3/4" BRAD TRIM NAIL ATTACHING THE QUARTER ROUND TO THE SIDELITE AND
ITEM #9 THE 16GA. X 1” BRAD TRIM NAIL ATTACHING THE MULLION CAP TO THE MULLION BAR VERTICALLY, IS AS
FOLLOWS: TOP & BOTTOM HORIZONTALLY (FOR THE 3/8” QUARTER ROUND); 1.25" IN FROM EACH CORNER WITH
(1) NAIL MID-SPAN.

ON THE SIDES VERTICALLY (FOR BOTH 3/8" QUARTER ROUND & MULLION CAP): 1.25” FROM EACH END & SIX MORE
EQUALLY SPACED ON THE FIELD.

4. WHEN ATTACHING THE STRIKE PLATE TO THE JAMB AND BUCK USE ITEM #25, A #8 X 2 1/2" PFH WOOD SCREW.
WHEN ATTACHING THE STRIKE PLATE TO THE JAMB AND SIDELITE JAMB AT THE MULLION USE ITEM #24, A #8 x 2"
PFH WOOD SCREW.

5. SPACING FOR ITEM #25 THE #8 x 21 /2” PFH WOOD SCREWS ATTACHING THE JAMBS TOGETHER AT THE MULLION,

(G HORIZONTAL CROSS SECTION

\4/ AT SIDELITE TO HINGE JAMB

IS AS FOLLOWS: 6.0" FROM EACH VERTICAL CORNER WITH (4) MORE SCREWS EQUALLY SPACED ON THE FIELD,
6. THE SIDELITE PANEL IS SECURED INTO THE SIDELITE JAMB W/ ITEM #29 SILICONE CAULK ON THREE SIDES AND
3/8" QUARTER ROUNDS SECURED WITH ITEM #31 BRAD TRIM NAILS x 3/4" LONG.
7. WHEN ATTACHING THE HINGE TO THE JAMB AND BUCK USE ITEM #27, A #10 x 2" PFH SCREW. WHEN ATTACHING EDGE DIST

8. SPACING FOR ITEM #49 THE #6 x 1 1/2" PANHEAD SCREW (TRINITY LITEFRAME) IS AS FOLLOWS:

THE HINGE TO THE JAMB AND SIDELITE JAMB AT THE MULLION USE ITEM #14, A #10 x 1 3/4" PFH WOOD SCREW. ‘ 4 E

0.75" MIN.]

as

DETAILS, SHEET 7

SEE GLAZING
DETAILS, SHEET 7

EXTERIOR
|

<

0.125" MIN. J

GLASS THK.

|
INTERIOR

A\WORIGONTAL CROSS SECTION

SEE NOTE 3
i SN SHT. 4
4 N s \§!§\r\‘\\\\§
e AN )\ §—§_\\
S \\ \!\\b,r\\\
| '4'. . \ ..
b «/,/mmm/m«m;x/‘/m;cr‘ﬁ! SEE NOTE 2
\ N ON SHT. 4
NN

SIDELITE LITEFRAME FROM THE TOP DOWN VERTICALLY; 3.25", 18.0625", 32.8125", 47.5625" & 62.625".
SIDELITE LITEFRAME TOP & BOTTOM, FROM THE LEFT; ONE (1) SCREW AT 4.4375".

9. ALTERNATE CONCRETE/MASONRY INSTALLATION ANCHORS OF EQUIVALENT PERFORMANCE CHARACTERISTICS CAN BE
USED UPON APPROVAL OF THE ARCHITECT OR ENGINEER OF RECORD FOR THE PROJECT OF INSTALLATION.

10. USE ITEM #51 WHEN INSTALLING INTO WOOD SUBSTRATE AT HEAD & JAMBS. USE ITEM #25 WHEN INSTALLING INTO
MULLIONS.  USE ITEM #16 WHEN INSTALLING INTO CONCRETE/MASONRY SUBSTRATE AT SIDELITE SILLS.

p——

1.50” MIN,
EMBED.

_ 0.250" MAX.

N SEE NOTE 6 %
N ON SHT. 4 &

77ft;/lTO BUCK

2
A ‘o

3737 LAKEPORT BLVD.
KLAMATH FALLS, OR. 97601
PH. 541.882.3451

JELD-WEN, INC.

WITH & WITHOUT NON-IMPACT SIDELITES
HORIZONTAL CROSS SECTIONS
AND NOTES

CONTOURS STEEL DOOR, WOOD EDGE
6'-8" OPAQUE OUTSWING IMPACT DOOR UNITS

>

o

=

]

N

0

<
£ x
13)
2 o
o e
x <
a a
ToE = <<=
& 3 >
E&% %ﬁ%ﬁm

REVISIONS

DATE

1 [03/29/22| AFCO H-497 SILL ADDED
H|01/22/20] ADA THRESHOLD ADDED

F107/11/07] MODIFIED TO MEET THE 5TH ED. FBC| SIM
E[05/01/12] MODIFIED TO MEET THE 2010 FBC
D|07/11/07| MODIFIED TO MEET THE 2004 FBC
¢110/22/02| ADDED TRINITY LITE FRAME

B|06/06/02] GENERAL REVISION

6 l08/18/17] CHANGED CORE DEFINITION.
#

>
%
SEE DETAIL 5| S
ON SHEET 5 |= 4
ER!
SHIM EXeN
2, &
%,
398
DANIA
FBPE CERT. OF

ol

>
=
-l
- Prepared By:
-
.
=
<
S
BUILDING DROPS, INC.
338 Phone: 954-399-8478
Fax: 954—744-4738

DATE:  03/29/2022

SCALE: N.T.S.

DWG. BY: JWJ

cHK. BY:  S. SAFFELL

DRAWING NO.:

D015000 (S—2104)

SHEET 4 oF 8




74.50" MAX. O.A. FRAME WIDTH

SEE DETAIL 2
/_ ON THIS SHT.
‘( \. ° o °
% P
SEE DETAIL 4
ON THIS SHT.
—) »
6.00" .00” TYP. 19 50"
=7 6.00” TYP. P
* : T ~3.00” TYP. :
— 6 TYP
B I T
6 TYP. _ Y N I _ 7.375" ¥ 1.
y4 . \\
EA \ B
TYP. TYP. .
31 5
5 SPACES
SPACES @ 13.85"
@ 1585 SEE DETAIL 5 g1 5"
81.95" - /’ ON THIS SHT. =— VAX.
MAX. . 0.A.
0A | FH \ 3R FRAME
FRAME » HEIGHT
HEIGHT - 520 -
=0
= _ 31”
36.625"
' T I I i ~ '
r = =
L1 [<3.00” TvP. 15 195" ’
6.00 7.00” TYP. P
TYP. -
N\ SEE DETAL 3
ON THIS SHT.
DOUBLE DOOR WITHOUT SIDELITES ANCHOR LOCATIONS
VIEWED FROM_INTERIOR
@ @ SEE NOTE
_ — 7 SHEET 4
§ T~ \ _ - N
. AN \ /‘ ~
000 /
/ \ \ / \‘ / _ \
( | [ \ —*He
\ / ly { :o H .o
NS , Nngi
AN / ~——~ \ L
~ ~ ~ -~ /
—_ —_— \ -

DETAIL 2 — @ HEAD JAMB

DETAIL 3 — @ THRESHOLD

ASTRAGAL STRIKE PLATE

ASTRAGAL STRIKE PLATE

DETAIL 4
HINGES TO JAMB & DOOR

~——70.25" MAX. 0.A. FRAME WIDTH

VIEWED FROM INTERIOR

DETAIL 5

STRIKE PLATES TO ASTRAGAL

STRIKE PLATES TO JAMB

DETAIL 6

SEE NOTE 10\

ON SHEET 4

g
/

~

== 10
450" T\P— |— 9.00” TYP.
3.00" TYR —~— 6 6.58” 6.00” TYP.
3.00" TYP— |— e |4 [=3.00” TYP.
| “I SEE DETAIL 4
[ I TITT TITT T SN
. L I||[TT1 T COO|[IT ] 1 S de //////ON THIS SHT.
N § — — — . P 1] o
{9 10 3
-/’/ TYP.
\ — SEENOTE5 _— - 31
I ON SHEET 4 T\
SEE DETAL 6 >@
. [ ON THIS SHT. ||— — _ —
/ ﬁﬁ T
11 15.50” _ /%? _ _
-t / |
Y
- — _ _ 31”
36.625" @ \
{9 TYP. 10 3
It |l il 4l i
3.00" TYP— - ¢ L] -3.00" TYP
3.00" TyPR— 1= 7.00” TYP
: 15" MIN.
[ c-sink.
— H
7
s
SINGLE DOOR WITH SIDELITES ANCHOR LOCATIONS / -\

N ——

DETAIL 7

&f%fERSWK FOR INSTALLATION ANCHORS

.2
Q5
- -
. 0C v

S-S h
mem
ER
oW g
SSEg
32},3“’.
W T
S5 2Q

WITH & WITHOUT NON-IMPACT SIDELITES
ANCHORING LOCATIONS
AND DETAILS

CONTOURS STEEL DOOR, WOOD EDGE
6'-8" OPAQUE OUTSWING IMPACT DOOR UNITS

MSH| PRODUCT:
JWJ| PART OR ASSEMBLY:

TSB
JPH
JLA

ZRK
TJH
BY

REVISIONS

DATE

F |07/11/07| MODIFIED TO MEET THE 5TH ED. FBC|SIM
E |05/01/12| MODIFIED TO MEET THE 2010 FBC

D |07/11/07| MODIFIED TO MEET THE 2004 FBC

C 10/22/02| ADDED TRINITY LITE FRAME

B |06/06/02| GENERAL REVISION

H |01/22/20| ADA THRESHOLD ADDED
#

1 103/29/22| AFCO H-497 SILL ADDED
G |08/18/17| CHANGED CORE _DEFINITION.

SEE NOTE
4 SHEET 4

FBPE CERT OF Aﬁm%ﬁrﬁoﬁo 29578

Prepared By:

BUILDING DROPS, INC.
Phone: 954-399-8478
Fax: 954-744-4738

DATE:  03/29/2022

SCALE: N.T.S.

DWG. BY: JWJ

cHk. BY: S, SAFFELL

DRAWING NO.:
D015000 (S—2104)

SHEET 5 oF 8§




107.00" MAX. 0.A. FRAME WIDTH

P

—F

I

450" TYP.

3.00” TYR
* 3.00" _

e |L=

o/
=)
=

\Iu ° ° ° ° o
“S__ SEF DETAL 2

ON SHEET 5

13.41" TYP.
6.00” TYP.

¢
16.41" TYP.
9.00” TYP.
$.00” TYP.
5.00”" TYP—~ ~T T

—~3.00" TYP.

81.25"
MAX.
0.A

FRAME

HEIGHT

6 TYP. [
i 10
_/
5
SPACES
@ 13.85"

N

,:Eﬁ 19

—

I 1

[ O R |

TYP. _

SEE NOTE 6 _—
ON SHEET 4

SEE DETAIL 5 —
ON SHEET 5

N

L

.\\’_
31 n

10 §i3

3111

7\:’

3.00" TYP—~
3.00" TYP—

| ‘

¢3.00" TYR—

[7.00” TYP.

B f

—3.00" TYP.
7.00" TYP.

SEE DETAIL 3
ON SHEET 5

DOUBLE DOOR WITH SIDELITES ANCHOR LOCATIONS

VIEWED FROM INTERIOR

SEE DETAIL 4

ON SHEET 5

6 TYP.

5
SPACES
@ 13.85

ol

37.75" MAX. O.A.

FRAME WIDTH

&

6.00”
__ . — SEE DETAIL 4
6 TYP. I I I 7‘3175,, ON SHEET 5
— —_ H
e )
v —
6
SPACES ”
@ 11.54" 3]
81.25" SEE DETAIL 6
MAX. n /_ ON SHEET 5 .
0.A. 18\ - - 4
FRAME . |
HEIGHT 20" /'
B - -
B /@ 3
36.625” -
|
—— =
6.00" __|8.58”|__
TYP. TYP.

i %

SINGLE DOOR WITHOUT SIDELITES ANCHOR LOCATIONS

VIEWED FROM INTERIOR

3737 LAKEPORT BLVD.
KLAMATH FALLS, OR. 97601
PH. 541.882.3451

JELD-WEN, INC.

WITH & WITHOUT NON-IMPACT SIDELITES
ANCHORING LOCATIONS
AND DETAILS

CONTOURS STEEL DOOR, WOOD EDGE
6'-8" OPAQUE OUTSWING IMPACT DOOR UNITS

JWJ | PART OR ASSEMBLY:

JPH
JLA
ZRK
TJH
BY

MSH| PRODUCT:
TSB

REVISIONS

DATE

F 107/11/07 | MODIFIED TO MEET THE 5TH ED. FBC|SIM
E 105/01/12| MODIFIED TO MEET THE 2010 FBC

D [07/11/07 | MODIFIED TO MEET THE 2004 FBC

C [10/22/02 | ADDED TRINITY LITE FRAME

B [06/06/02 | GENERAL REVISION

H |01/22/20| ADA THRESHOLD ADDED
#

| [03/29/22| AFCO H—497 SILL ADDED
G [08/18/17 | CHANGED CORE_DEFINITION.

FLORIE )
! AR ‘BL
FBPE CERT oﬁFl’; HERES YO

Prepared By:

BUILDING DROPS, INC.
Phone: 954-399-8478
Fax: 954-744-4738

DATE:  03/29/2022

SCALE: N.T.S.

DWG. BY: JWJ

cHk. BY: S, SAFFELL

DRAWING NO.:
D015000 (S—2104)

SHEET 6 oF 8§




EXTERIOR

INTERIOR

17) (29

EXTERIOR 0.125" TEMP.
‘ & r GLASS
o ~1.000" MIN. —
C / oass 10750 A{R SPACE‘
$ 75" x .50 INTERC&T L 0.125" TEMP.
INTERIOR 050" STEEL SPACER GLASS
— |~ 6lAss
BITE
SEE NOTE 8
09 )49 on sHT. 4

ON SHT. 4

GLAZING DETAIL 1
ODL LITE FRAME SINGLE PANE
1/8" TEMPERED GLASS
SPARTECH
POLYCOM PP5530 C13

50

29) (48)

GLAZING DETAIL 3
TRINITY LITE FRAME

1" INSULATED TEMPERED GLASS
LUPOY EU-5007

1/2 MIN.
0.125" MIN. GLASS BITE SEALANT \rerioR
TEMP. GLASS - —
r THICKNESS 1/8" TEMPERED GLASS
ﬁ T STRUCTURML ) by
SEALANT \f-
0.50" N
oSS 6)— 2 1/8" TEMPERED GLASS
BITE EXTERIOR DETAIL
SEE NOTE 2 SEALANT 6" MAX. D.L.O. WIDTH

62 5/8" MAX D.L.O. HEIGHT

EXTERIOR 0.500" MIN.

T GLASS THK.  0.125" TEMP. (950" AR

r ‘ GLASS r SPACE
I L 0.125" TEMP.

3737 LAKEPORT BLVD.
KLAMATH FALLS, OR. 97601
PH. 541.882.3451

JELD-WEN, INC.

GLAZING DETAILS

CONTOURS STEEL DOOR, WOOD EDGE
6'-8" OPAQUE OUTSWING IMPACT DOOR UNITS
WITH & WITHOUT NON-IMPACT SIDELITES

MSH| PRODUCT:
JLA| PART OR ASSEMBLY:

1SB
JPH
JwJ
ZRK
TJH
BY

=
w
S
“Blg
LIQ_I Lo |l
=23
0.50° INTERCEPT GLASS Z|E(S(S |w
INTERIOR GLASS ~ STEEL SPACER QlalRlalalwF| |2
aluZEEIZEE] |8
BITE RSEFFFlLl 18
S eEEIEEIEG
SEE NOTE 8 = R
ON SHT. 4 SN S
A1 OlR|=|= QZ: o
| lx|oalalal~|w
NOTE: ELEEE S
ALL GLAZING CONFIGURATIONS MEEEEEE
Tgmlzr’)ﬁ’%%ﬁ,’é\é SHALL COMPLY WITH SAFETY <SPEEEEC
GLAZING REQUIREMENTS OUTLINED | |NIS|JSIR|S|S|S
1/2" INSULATED TEMPERED GLASS RAMLUGLI | IN FBC CH 24. SNBSS
LUPOY EU-5007 o™ 12, SNIISRESE
\\ ’/I sl =l is =] [=1l=]0 (=]
5 \ %{\ ,’, —| || w|w|a| o|mfEs
§ X 10 ’?_ DATE:  03/29/2022
=% A = Prepared By: SCALE: N.T.S.
= 0 : o s DWG. BY: JWJ
X fw s
~ O & S CHK. BY: S. SAFFELL
e S :
2, & : OF .8 DRAWING NO.:
Ry SN RSN BUILDING DROPS, INC. D015000 (S-2104)
308 E/ppala BN oL D o338 Phone: 954-399-8478
FBPE CERT. OF ADMORIZATON No. 29578 Fax: 954-744-4738 SHEET _/ OF 8




@ ASTRAGAL (IMPERIAL)

|—— 1.670” *i 1.670" — — 1.670" — — 1.670" — 4.5625” |
— 2.188" —= 0.529”
} 777 T  ——— ) I — T : 7 : ‘ I : ]
" AL /% " , " S / = S // 0.750” 0.380" | 0.500
1.210 L 1.000 1,000 1,042 NI = : =
700000 : : 1.250" [/ 7 Y : f 1 3
{ AL y v L A 0s00” f S5
* /7 0.140" =2
» 0 v
DOOR BOTTOM RAIL DOOR HINGE STILE ) 0.530 s @ & v
2aeA (0.021") STEEL FINGER JOINTED PONDEROSA DOOR LATCH STILE DOOR TOP RAIL ea WO0D JAMB l~— 1.732" —| Q Eog
(0.0217) PINE WOOD LV LVL <>< FINGER JOINTED FLAT LITE KIT =o3Q
(4 (44) PoNDEROSA PINE MH (10) COUPRESSION WEATHERSRTIP | = & = Q
625/8" MAX D.L.O. HEIGHT SCHLEGEL Q-LON QDS 650 "gu > L:I:L "2
—‘ '7 0.513” 1.013” T——‘ a S g X
- - | » IS =
- ‘ 5.000 WRST
-~ 1.645" —  Jommms o T | 544" W 0.500"
] O = 55 \OPERABLE ADA SILL
5%%22 0.831” - ALUMINUM
- 1.750" —| - 1.750" —| —
1 2.521" — 2.519" — o
\ ] , 1.651” wSE@
45 1/2” 1.G. TRINITY LITE FRAME @1 1.G. TRINITY LITE FRAME o, 1/8" S.G. ODL LITE FRAME S xo
CORNER BLOCK FOR POLYPROP. POLYPROP. POLYPROP. 585 £
STEEL BOTTOM RAIL TRINITY PLASTIC LITE KIT MATERIAL TRINITY PLASTIC LITE KIT MATERIAL ODL PLASTIC LITE KIT MATERIAL ] S55 &
MDF x 3.0° LONG APPROVED UNDER CURRENT NOA APPROVED UNDER CURRENT NOA APPROVED UNDER CURRENT NOA 4.621 95"%% I~
1.500" @ AFCO_H-497 OUTSWING SILL Rez §
| 1.250" |— ] ALUMINUM el e
: — 1.109" | [ 868" 1 EEEE
” — R & 0.375” oS3 S
0.482 1 0.37. 0wl B
— 0.585 ) _ 2 WE|?
- 0.624 O 0.375" —~| |1 . 8§4%
' | |10 \ 0O @3/8" QUARTER ROUND o| 8S5x|%
5 500" 1.736"0.675' i ST 2.040" o o S aT|E
 ASTRAGAL HAS THO 0.3125” ' 1 j 2.137"1.012 o o o o
DIA. x 9" LONG BOLTS; O i ) SBEEREERR
1 ON TOP, 1 ON BOTTOM O o _’|375 | 1 N A ERS SERES
1N = J ) (7772774 0.250" »
‘—— 1.025” — 1.381" |~ =T 0.097" —]|— 4.000" ~BE
Ly
m ASTRAGAL STRIKE PLATE DOOR LATCH STRIKE PLATE BD(?LOTR SLT,A;,T}SEH 33*% @ MULLION CAP @ HAGER STEEL BUTT HINGE L EERL
6063-T6 ALUMINUM (IMPERIAL 0.125" STEEL) STEEL STEEL PINE (81.25” LONG) 4" x 4 x 0097 THK. STEEL  [BlaPlilu | |2
Q < L o
RELLEELL
M Sl lhwwE e
11.875 - 1.710" — SEFFFRERIC
. B E -
SEERRRER
bl
—— TEHEEEL (R
DIA. VARIES WITH /. /// = sE55 = (S
HARDWARE USED //// CRESRRERR
7 o/ NEIENIFIE
s Lt SIS SN
S 7 SWING , STANDARD BUMP FACE THRESHOLD RNSSINISE
. U ) I N 'S Ny RUBED ALUMINUM S5 | SRRISISIS
4.000 ////- S . WD INSERT ol ks lola
o /// = 0= DATE:  03/29/2022
//// =% A = Prepared By: SCALE: N.T.S.
//// = :,% .:' o = DWG. BY: JWJ
/ // ;’ Q<\ . s él s CHK. BY: S. SAFFELL
' ’/,/ & O\% § DRAWING NO.:
WOOD LOCK BLOCK e SN N T BULDING DROPS, INC. | D015000 (5-2104)
FINGER JOINTED PONDEROSA PINE FBPE CERT. OF RDIIORIZY o‘soﬁo. 29578 Fax: 954—744—4738 SHEET _8 oOF _8




		2022-04-08T12:40:29-0400
	Hermes F Norero
	I am approving this document




